

	RULES combine $\pm, *, \div, \text{const}$	Deriv	20090130 1/ Leibniz
$Au \pm Bv$	$(\pm C \cdot)$	$Au' \pm Bv'$	$d(uv) = vdu + u dv$
$u \times v$		$u'v + uv'$	
$\frac{u}{v}$	(PROD)	$[u'v + u'v]$	$d\left(\frac{u}{v}\right) = \frac{vdu - u dv}{v^2}$
$uov;$	(QUOT)	$\frac{vu' - v'u}{v^2}$	
$\frac{d}{dx} f(g(x))$	(CHAIN)	$u'(v) \times v'$ eval at v	$d(uv) = \frac{du}{dv} dv$
		$f'(g(x)) g'(x)$	

CHAIN RULE  $y = f(u) \quad u = g(x)$

$$\frac{dy}{dx} = \frac{dy}{du} \frac{du}{dx} \left( \frac{dy}{du} \Big|_{u=u(x)} \cdot \frac{du}{dx} \right) \quad \text{p. 139}$$

eval where

Example

$$y = (3x+1)^2$$

THE MOVIE

$$\frac{dy}{dx} = 2(\quad)$$

Derivative of  
sq. br is 2()

where  $2(3x+1)$   
eval at "3x+1" TIMES

$$2(3x+1) \cdot 3$$

(Ex.)

$$y = (3x^2+1)^2$$

$$\frac{dy}{dx} = 2(3x^2+1) \cdot \underbrace{(6x)}_{\text{der of } 3x^2+1}$$

$$= 6x(3x^2+1)$$

$$x \rightarrow (3x+1) \rightarrow (3x+1)^2$$

Power Rule

20090130 21

$$\frac{d u^b}{d x} = b u^{b-1} \frac{d u}{d x}$$

$$(x \rightarrow u(x) \rightarrow (u(x))^b)$$

$$y = \left(\frac{1}{x} + x\right)^2$$

$$\frac{d y}{d x} = 2 \left(\frac{1}{x} + x\right) \cdot \left(-\frac{1}{x^2} + 1\right)$$

$$\textcircled{E1} \quad \frac{d}{d x} \sqrt{x^2 + 5x + 4} = \frac{1}{2\sqrt{x^2 + 5x + 4}} \cdot (2x + 5)$$

"eval"

$$\underline{\underline{\text{cleanup}}} \quad \frac{2x + 5}{2\sqrt{x^2 + 5x + 4}}$$

Example 2.4.3  $C(x) = \frac{1}{3}x^2 + 4x + 5$

Production level at hours into run

$$x(t) = 0.2t^2 + 0.03t$$

Find rate of change of cost when  $t = 4$  hours

? Profit at particular time

SAN: Formula (all  $t$ )

$$C(t) = C(x(t)) = \quad \quad \quad ) \text{ write?}$$

$$\frac{dC}{dx} = \frac{2}{3}x + 4$$

$$\frac{dx}{dt} = 0.4t + 0.03$$

$$\left. \begin{array}{l} \text{level } x = 0.2t^2 + 0.03t \\ \text{level } t \end{array} \right\}$$

Ch. Ex 2.4.4.  $f(x) = \sqrt{x^2 + 3x + 2} = \sqrt{\square} \quad \square = \dots$

### POWER RULE

$$\frac{d}{dx} [u(x)]^b = b [u(x)]^{b-1} \frac{du}{dx}$$

Ex  $\frac{1}{(2x+3)^2} \quad \frac{dy}{dx} = \frac{-2}{(2x+3)^3} \cdot 2 = \frac{-4}{(2x+3)^3}$

Combination  $\frac{d}{dx} \left( \frac{1}{v} \right) = \frac{-1}{v^2} \frac{dv}{dx}$

(N.B) Quotient  $\frac{u}{v} = u \cdot \frac{1}{v}$

$$\begin{aligned} \frac{d}{dx} \left( \frac{u}{v} \right) &= \frac{d}{dx} \left( u \cdot \frac{1}{v} \right) \\ &= u' \cdot \frac{1}{v} + u \cdot \left( -\frac{1}{v^2} v' \right) \\ &= \frac{u'v - uv'}{v^2} \end{aligned}$$

Combinations - - - -

2.4. #29  $f(x) = (x+2)^3 (2x-1)^5$

Handy. 31.  $G(x) = \sqrt{\frac{3x+1}{2x-1}}$

(43) Horizontal Tan line

$$f(x) = (x^2 + x)^2 ; 2(x^2 + x)(2x + 1)$$

$$= 0 \text{ when } x = -\frac{1}{2} ; x = 0, x = -1$$